WAC 415-104-175 Comparison of disability retirement allowance
and service retirement allowance. In comparing the disability retire-
ment allowance and the service retirement allowance as required by RCW
41.26.130(3), the department must:

(1) Compute the service retirement allowance using a final aver-
age salary calculated as follows:

(a) The department shall first calculate the greatest basic sal-
aries that were or would have been payable to such member during any
consecutive twenty-four month period within such member's last ten
years of service for which service credit is allowed;

(b) The department shall then divide the total basic salaries
during the selected twenty-four month period by twenty-four to compute
the final average salary.

(2) Compute the service retirement allowance. The service retire-
ment allowance does not include any cost-of-living increases that
would have been granted if the service retirement allowance had been
in effect during the period of disability retirement.

(3) Compare the service retirement allowance to the monthly disa-
bility retirement allowance that the member was receiving on the date
that the disability ceased.

[Statutory Authority: RCW 41.50.050. WSR 99-16-075, § 415-104-175,
filed 8/3/99, effective 9/3/99. Statutory Authority: RCW 41.50.050 (5)
and 41.50.090. WSR 87-07-016 (Order 87-4), § 415-104-175, filed
3/11/87.]
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